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o i === Group Average BW

DW+DW g&w(D) 230.7

Tx.+Alc. HET(E) 232.1

DW+Alc. CHZ=TH(F) 231.6
Total average 2315
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HAZ 1} SITHE E +40% alcohol 'H& £0 MEZo| H{DHT}
1) ZHHIZE &84 AST, ALT 2| 7}

Hoaah AT ALOJO| M AST @F ALT 25 2|3 Xto|= i QILt.

2) HEHEHN % 54 ALP, GGT 2| H7}t

Yoz AE ALO|O M ALP 9 GGT 25 |2/ k0| £ HO|X| &UC

3) Zt &4 QIX} Protein, Albumin, Glucose 2| H7}

o HEa AHOI0 A albumin, glucose E50|A R2|ot XO| & EO|X| AQULC
Jd2{Lt protein 2 F&7(5.23+0.25mg/dL) 2Lt A3 7(4.93+0.26mg/dL)A A F2[5HA
=2 208 E0FRACHp<0.05).

4) Total cholesterol 2| H7}

Total cholesterol 2 &1t A2 AO[O| A F2lst XtO|E HO|X| ERULE,

5) M%&7| 59| "7} Creatinine, BUN

Creatinine I} BUN 2 d& 71 A& AIO|O| M F2olot XtO|E EO|X| LQULLCE

6) Alcohol 2ol 214 E7}

YoM e 2EEX RUSH, S22 HIEEE HEFOD AT
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3) Zt 84’5 QX Protein, Albumin, Glucose 2| H7}
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glucose = HAH(102.93+9.67mg/dL) 2Lt T =7 (78.22+14.32mg/dL) A =7
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H41(10.35+1.12mg/dL) 2 CF CHZET(14.45+4.00mg/dL) Ol Al Rol8HA =2 ZME
Eo:l_l_)vkl:l' (,0<0 05)
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UN 2 M&7(10.66+3.31mg/dL)O| CHZET(14.45+4.00mg/dL) ELCF Fo/81H
HE HO{FALCHp<0.05).
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3) GGT & A& F(1.37+0.12U/L)0] CHET(1.45+0.12U/L) 2Lt So|8tA “e ZutE
H O FRULCHp<0.05).
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4) Glucose = HET(118.65+17.00mg/dL)0| CHZE(78.72+14.32mg/dL) E L} 72|57

=2 245 EQFRUCHp<0.01).
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Ethanol metabolism

A LY & OEt=2 R 2 2t M THAFEICE 2|0 M of 5%2| Of Bt= AtelCHALt
aoHE|D1 2-10%= 28, H E= 2HOR L HjHEC, BN oR AAZ2 HA
, , MM acetyl-

acetaldehyde 2 t2tEl = acetate 2 CHAFEICE. Acetate = |, 25, %
CoA 2 RE2HMOZ THALEICH YA Z2 7H0i| A Of2ief 22 CHAsh @A A[AH0 2fs
CHAREICE.

H,0, H,0 Peroxisomes
Catalase
-
ADH o ALDH2 ' §
Ethanol "— Acetaldehyde _ﬁ.\_» Acetate—> K]
mM ¢ 3
(3] Cytosol w8 _/ Mitochondria | ©
Result:
[2] © Acetaldehyde adducts formation
+
NADPH + H*+ 0, NADP*+2H,0 @ Increase ROS formation
Microsomes @ |ncrease NADH:NAD' ratio

Figure 1. Alcohol metabolism pathway
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1. Alcohol dehydrogenase (ADH)



ADH &= O{CIMLE 2 = U= MEZHO| U= BALEH ADH £ ethanol 2 7
98 =2 O EYHS| E EXt2 HEHA|ZICE O] HHZ0] YOojLts 5S¢t
O EF=Z 0 M X7 %[0 nicotinamide adenine dinucleotide (NAD)2 MY |0 ¥
NAD(NADH)Z H2HEICE NADH = CHE B2 CHAF BF30| &5t =28
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tetE2 2 F7I0H IHEO| MZLH NADH & MZ0f| Ao 2 S22 S 7| K,
#=XH O 2 acetaldehyde 7} aldehyde dehydrogenase Off 2|3l acetate 2 M &HEICH
LIAZ2 S 25t isoenzyme E= Ot &2 FF7F EMBHCL

Alcohol dehydrogenase isoenzymes 8 EF

- liver: ADH 1-4, 6, 7

lung: ADH 2

stomach: ADH 3,6, 7

cornea: ADH 4

oesophagus: ADH 1-7

most other tissues: ADH 5

2. Microsomal ethanol-oxidizing system (MEOS)

MEOS & endoplasmic reticulum 0| A 22| & microsomes 0| A M E[= enzymatic

sequence £ 15k 2| ethanol O] EXE U} ethanol 2 acetaldehyde £ H&A|7|=
L8 ot

3. peroxisome 7|t2| catalase enzymes

4. Acetaldehyde dehydrogenase - (acetaldehyde =3l)

MEOS = 53| M2 2o dIAZ 5
cytochrome P450 224&= MEOS 2
acetaldehyde 2 HZHA|ZICH

CYP1A2 3 CYP3A4 @ Z2 cytochrome P450 &= €32 £5}0] 2O STt cytochrome
P450 2E1(CYP2EN)2 PHEX 2 HIA =2 S HESt= A0 Sttt O2[1 o] #tE2
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raw Ci|O| Ef

Total Protein|  Albumin T.Cholesterol BUN Cratinine Glucose Alcohol
(y/dL) (ydL) (mg/dL) (mg/dL) (mg/dL) (mg/dL) (mg/dL)
5.58 2.71 . 82.4 8.42 0.31 103.4 Not detected
5.14 2.34 . 88.6 10.86 0.34 115.2 Not detected
5.01 2.43 . 88.1 10.22 0.30 93.5 Not detected
4.91 2.31 . 85.1 10.75 0.41 114.0 Not detected
5.36 2.68 . 95.8 10.05 0.34 94.8 Not detected
5.38 2.53 . 104.5 11.78 0.31 96.7 Not detected
5.23 2.50 90.75 10.35 0.34 102.93 #DIV/0!
0.25 0.17 8.10 1.12 0.04 9.67 #DIV/O!

6 6 6 6 6 6 0

Group 2 (6'"]1"%5 +40% LIAS)=AdT

Animal 7 Total Protein|  Albumin T.Cholesterol BUN Cratinine Glucose Alcohol
A

ID (gdL) (gdL) (mg/dL) (mg/dL) (mg/dL) (mg/dL) (mg/dL)

1 5.14 2.45 . 94.7 9.64 0.31 125.6 133.6
2 4.56 2.13 . 84.5 17.12 0.38 145.5 Not detected
3 4.75 2.14 . 77.8 10.45 0.31 125.4 99.7
4 5.08 2.36 . 93.4 10.15 0.30 97.8 95.8
5 5.23 242 . 97.8 8.94 0.34 108.2 145.6
6 4.82 2.38 . 82.5 7.68 0.37 109.4 131.2
4.93 231 88.45 10.66 0.34 118.65 121.18
0.26 0.14 7.94 331 0.03 17.00 22.12
6 6 6 6 6 6 5




Group 3 (40% ¥IZ)=Ci=¢

Animal Total Protein|  Albumin T.Cholesterol BUN Cratinine Glucose Alcohol

43

ID (gdL) (gdL) (mg/dL) (mg/dL) (mg/dL) (mg/dL) (mg/dL)
5.58 2.63 . 79.8 9.78 0.34 83.7 140.8
5.26 2.48 . 94.4 21.45 0.32 103.2 201.8
4.88 2.38 . 93.4 12.14 0.38 79.2 138.7
5.08 2.24 . 77.0 14.25 0.31 715 170.6
5.17 2.34 . 80.5 13.14 0.36 68.9 191.8
5.04 2.48 . 79.4 15.94 0.33 62.8 152.1
517 243 84.08 14.45 0.34 78.22 165.97
0.24 0.14 7.70 4.00 0.03 14.32 26.62
6 6 6 6 6 6 6




